Er o v SR

s mew

oigs - Gl ?}ua&

B, w»&.M

e

8-0236 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUARES
3-0137 — 200 SHEETS — FILLER

COMET

47

adomt T FRD -

A’ EXISTING BEAM - RAFTER DETAL:

' =
/9/!_—

0 SoL (D * J
geock g

[

I- L'( Zx10 @ (&' o((,

2x0 @.(b" ole_

<IMPsors  HZ. A%
T‘('PLCAcL/g :

* UEREY op. PROUDE.

g i

4
( s" xlo EW/// &

GE/\M K

‘x

| EXPIRES:




1#fe:a 2O

H _SEomiol THRU Top 0F GARARE
PARTYTION: & |

2Vg"

2xl\o

BLockAndg € (6" c

v STUD) o
(AT EXTNG .

RAFTELS
C (b%(c

soL(D &

NALL
¢tu0
1R D

EACHK

o Bk,

Bloc

WD
oM. NALWLS.

% SiMesorl “Lusoiot

Er. END, P

A

o b

pLwooD

/No'rcH Tof

ARPUND 2x (0
SOLID Bk

-/ NoTcu ToP

AouRD Sx(O

BErM  TO®

o %6 PosT—- M

IALL UNDER. 5
EXCTING BEAM

D




(—»

?‘(‘O(JOSH—L Awd’DGQi‘ﬁh AL Approuéc/c
M el 2] 1) (o Lo TR D

eT #3210
7 OR. D7 OO

- 226 - 22S

o | Py (S s
Plannin: W
B )

502

City of Portland

AN
m
¥

1
ji
=)

A

pe 7 Tl P~y
) - }?_,, SioEH cE

SEp 11 2013

Permit Number

‘ ‘ RN \
Z % ) : g ' \\\ EROP&{,E,W
| N EMODEL
' N(PEREH) \\\
f.I‘ = i _’f o \ \ \\ 5% \\ \_\ %

VIE LAY

m
=

i
0
3
’\\4
{

%

|

¢d o e e
EX & (ol MG [

A X

NOMAH ( ‘;’,':;u NTY po ,Q:'. LA M D orR. 1215
N Q“E ROl = Red HYDE PARK

rv's




B

BE02. 226 .7236

o
I
)
i
I‘
|
|
Jri
|
-’
{
S
I
lr
|
N
||
1
L

;
;

AT LTI AL AEANRARY
2 |

FORTLARD,

120 NKH H

B
|
N
4\
{
AR

i CA 2
{ 7

—

L& STEP LIGHT &SATE |

<X
[row

o

§
i

R
Lo,

St | ‘ * é_,/ 2 %Q ‘*v ¢ : S
Al LY CARASE W CARAGE
| I DooR _@ Ty

PEABEARLERARAR A AR
H é )
YNNA

-
o

vy | gty
‘«r"'«‘
el
R &

NE
ER

A
fous

'

i
(j
R
C
:O w

e o o : = < it et e, (5 G55 // A /// A : E LA ////' £ ’ A S A

{

P
A
z‘,ﬁ"‘\

W)

z
1S
| o)

FLOOR PLAN

sCaLE: 1401=1".0

ot

PROPOS
!

ME!

City of Portland e

RE

)

SEP 11 2013

7-1-1%
OF
Permit Number ; oF &




...4
2 Iee
P
GO2LE

" vy g o p—— s I Wi A I o T e 2 0 e o 90 R n.z..l.ﬁ = ]
Olg # L3 N 20Cgl M;xwuwﬂ»ﬁm iixsaLiwﬁ,uw wﬁ«mh& wﬂwﬁ¢ WLH&UNMMMK)

- i
2T L

N GNYT LHed

OF ©

| d NO NI dasodond
W |
E i i )
zZ
& T Vi
w e W\ Uz\d..
| e

PLWDE, 1T
s

D n
m mw 5 e | (8 4
LT e s |
o <| n/Q e % + |
o , D
L~ = ﬂ |
()] ] ! Brond | i
- | (3 | )
, Pog . 1)
| Nww (
. Bz
o e ,ﬁ bl
el
ol & =, 1L
1 mm P i ( u U
\ A | LR
\ \\ j ,V
- \ \
-
...... 1\ " 'S
2 o il
n ] -
Ml ] 3
- SR i
L L9 \ o
. T ST —— i i i ti i
o | £ i
= < LB
M,,.\I J‘?iv _..4 | ,,m% i i ~
) <]y I
5 L il &
ISR e i
b

1Y

2lo
GAT
=

NORTH E

SCALE

- "”—’ ii
e 1/4, w?«{,}’

PLY oo
THING

/e

s

=

SH




e

.
- ) ; U & - T i =
[ ‘/; XG T46 CELARK

S

2x12 FASciA
- o ! : g e > 4 I S ‘
i ‘« / SMooTH PLYWD — , 41RiM |
> ’57‘ _‘ 2 \\Aj
155 W & | T
| = \
s i
& H Ff i
A FEMGE GARAGE. POoK
.
e il i |
BED b | g
St L'rt%.if‘*’: | !
- R NSk | 1]
S il i

(I —
{

R S

W' |

ogp 11 2013

Permit Number

SCaLe




(N) &%l BEiAM

e iy FTEK S =
(N) V2" x4 |

vt - ! N
T4 & CEDAR D

FJ = r\ = |
Lxd STUD (2) crd
it 2 - i PJA_(W et N e
7 | i/l“- " "= WAL e { )
Riml ey {\N ‘! t{‘;, i N\ S kS ,;-
RAPFPED | A : i
e v RPoUGH-SaM :
FIFE v CEDAR. | B -
' PLyeoD .

v
AN

Z
T g\
R ol
[

< |

&
5%
s
s
¢ &
-
bl
[/
{

(B) CoHC SLAB =

-
-
md
L
-
o P
el 0w
= -
G
N

o z i " ) g T 5 5 ; Gy 152 8 = g ';)“ - 5 i S s s : <4 e 3 ;
< . = 5 9 . o 5 < RS AR % . < N i ~ SN < & L . ¢
/ . 23l -..._. l" b §

(N) PT., 2x4 sLEEPERS A
LN e, 4 SLEEFERS d

T = W g el e e o N
NG . FOOTIN G SCALE . b@*aﬁﬂmg




o3

s Tl eV T
sl ok wl . \ \ - |

s | Vot bt

Permit Number

A
!
‘

i
L

f 1 # §
T ¥ g
Mx P Raute S . o 1 m
| 8700l nNagwuwe |
RS e T £ =

P

nnetner

~t &2

EN Toe
&
i

MOW

4

GAR
-
|
i
[
{
A
{ &

i A , s

i
.
L
<
P
iy,

e
e
-
L™
E
¥ 4
S
S

11

|

i
—? &

Frv

bl

¥
=

CARAE

N

i'i

G|

o~

] ! |
b 3 2 1 33
oy A | = e W,, .m
w g Hohe | w0l | |
Q g Wi X LN L s i
Q ‘@ LV | e -
Doy | =9 Y w |
M = 1Q/ 1 | | 4 g
o) VOO m / k al
s 8




SHEATHING SCHEDULE: PIUCCI GARAGE REMODEL

(Typical)_

Anchor Bolts:
(Typical)

Anchor Bolts:
(Front Wall)

Hurricane Ties:

Beam / Post Straps:

© Tim Covert P.E.

. Structural Engineer

- 1750 SW Skyline Blvd #221
. Portland, Oregon 97221

1/2" plywood (32/16) or APA rated sheathing

With 8d com nails at 6" o/c all panel edges

And 8d com nails at 12" o/c field.

All edges must be blocked. -~ (260/365)

P.T. 2x6 (min) sill plates with 5/8" dia x 12" Anchor Bolts at 48” o/c.
Provide plate washers between nut and sill plate: PL 1/4" x 3" square.

P.T. 2x6 (min) sill plates with 5/8" dia x 12" Anchor Bolts at 16" o/c _
Provide plate washers between nut and sill plate: PL 1/4" x 3" square. B :

Connect each rafter to each support
With (1) Simpson “H2.5A" hurricane tie.

Strap each existing beam to each post w/
(1) Simpson “LSTA9" strap each side, typical.

Structural Drawings
PIUCCI GARAGE REMODEL

Portland, Oregon

" Richard Stein - Designer

DESIGN LOADS:

Roof Load = 35 psf (25 SL)
‘Wind: 95 mph
Seismic Design Category: D1 (Ss

ECEosTE

Job No. 6198

TIM COVERT P.E. STRUCTURAL ENGINEER

1750 SW Skyline Blvd #221
Portland, Oregon 97221 Phone:(503) 228-0426




| 5 T J , -
P(u;m EEdo o gD-( Existing concrete block - [2
, el it e e (CMU) wall w/ pitasters. flev. ¢ {% /( 3
EXISTING  BeAM— RAFTER- DETAIL: =
s e : 4 XR = Existing rafters -
2EE ¥ [2- . - (2x10at16” ofc) ~
2%%5 . /7/ : ' XB = Existing beam = T
i 4" max . | New TALLER P.T. Rl e e gf N
G 6AT EA. 6x6 post. Simpson ; > i
5%%%' P__SEE’_————% “ECC66” column cap. @ b sl . -
3888 : | \
ik = » / | e _.-':’-Eé"—;lqg-“ — & v (A ) siM,
cocncog e %r‘ : ~~~:L~ ; 'H, ';"2*-—~ [O) x(f;
& x | . i 1N = S5
- g | ' ) | 5 diastd steel @ NEW 28 =
8 ’Q-_; * l e u\. . pipe column ‘ cRlckeT g?i \}l"
3 EXSTL Wl o : / = B
weons BE |4/ XJ) st ' Emoa e
x4-studs = 0w
IS = ' 5 @ \( *) partition: below. ai 22 E
o(c- =5
% w SIMPsoN. =
= o
oll ‘Huelolax" || @ - e
T NEW bxI0 gf /uew CX(O g we TV X® _
SIMPSoN "L70 = C " 5 dia Std Steel (1) : L4
'pr?{g(_' ipg BeEAM lE\\\ pipe column @ } 25'2‘ /
AL + e, 2
(«VF"" l) ?‘) * New 2x4-studs fosT. ;
. : partition: below. LI
A g
5” dia Std Steel *
pipe column @—'—-"
| o
™ T B O e e
o\ “MODIFIED GARAGE ROOF FRAMING PLAN:
? SHoPE EX(sTING . .g i
7 JellE ]
= 3D (1e)2) = *
2 (Max.) (4-9)( (3(tef2) = 267/ rafter T ] ]




618 Pluce 16-20 Eh-m
EPGE ReAM SECTIDN:
. New 6xto BM.
ZXI(0 DE- L. Ke.f ’ i
ﬁ' e g _ 8Lock:4»$q
e - : ] — 7
| - , - =
M 1 (0 (¥ 1B ‘olc H+H | R e e
2 ; 2 fiofaYeel * : /ﬁv
\ ‘ , ; 1
e~ 84 (@ 6 “ole. : A1 |
itpsond “pHz.S A" L
: HUKYZLC_A:)JE Tes, 9P
?));41_5 ;?ds at 16” olc o yovBle Zxio =
-L No.2 : '
eyl BeaM.
(3) full-height 2x4 : . [DF; L'#Z) Sl s H’MéIDMk)g“
jamb studs beside Vg “p > NAIL 2 (
garage door. 2 Py oo NAIL ZXIOs
Peilles = P - ’ ToGETHER
W/ 104 coM.
ALS @ 12"fc
STAGCGEZED
M0 (3)lod
71/ i CoM.. (. EACH
Sloe oF -
: . e { q City of Portianc,_
., OREGON Husto MAX REVIEWED FOU S
& ER(Er ok, pROVIDE. ),22'\9 SOMPLIANGE
— SEP 1 2013
lEXP:Rés o e
Permit Number Fexpires: |




ELEUATION Vigwd:  NoRTH EDAE  oF [oOF:

pouBle (O
if /’zmo‘s ’
| _ 3 ’ 1: ¥l
)7 1xL0 MRS et ; : }‘
; . | 35 S
| | IRz
; l
W
RS
gu &
AR
Wl | 1&
e
9
Al
L i« | | sk
c—d + ora — S

fPortland

Tim Covert P.E.

Structural Engineer

1750 SW Skyline Blvd #221
Portland, Oregon 97221

. 4 9042
orD E| & ;}‘\})ixj
oLl E

S4

permit Number

[_E;’(PIRESQ ) 7_ : J




| ‘ A
~ - 6135 I B ' ,2'5 ko- o
TP _0F PIPE DETALL : ELEVATION | | _
" 1. e ’ e .E’  TOP 0F PIPE DETALL: ElevaTionl
PR '! a /5f7@“ - . | " Vieul
Vo ;. X o o o
_— WZ . - —
— . g _ -
) s N— = % :
= & ' = ' & ; '-S‘
Shv 1 % B
. Ty e | = S e
& 7 . = :r & é
B s @ )
N/ .
i /‘I

\ (6) 1/2" dia. thru-bolts, typical.
\ (4) 1/2" dia. bolts thru double 2x10
e (4) 1/2" dia thru-bolts 2 V5 \
\ e Cap plate: PL 1/4"x 9" x 9”
| Vert. Plate: PL 1.I4" X7’x9” . \ Vwol,e \ —>> Side plate: PL 1/4" x 5-3/4” x 7" (Gexjovld)
: {
\ — 0 x(os Vertical plate: PL 1/4" x 9” x 7"
Cap Plate: PL 1/4" x 7-1/4” x 9” | - |
5” Std Steel Pipe Column
‘) (HSS5.563x0.258” okay)
| I 5" sTD.
| STEEL
e | Pl CoLUMA),

{

of Pomanvdww :
CREGOH D FO { GO

City
(/‘)’22 ‘\91

‘Tim Covert P.E.

- Structural Engineer

1750 SW Skyline Blvd #221
Portland, Oregon 97221

EXPIRES: |

S

~— Pormit Numb ’
it Number ! :
Perm ! IXPIRES: ; i




g g R0 gh

&3 l s £ -20 @D:)A' : 6123

Ml il T S For I €€c'no~\ @ o7 v ve. CoL:

" 2x10 EIRST x40 @16 ofc

i 10 i ‘ Exxs-r(wc;. ) o b (6) 172" dia. thru-bolts, typical.

fi, ((Es(\sﬂuq) S 5 ‘ Y 2x |

332D : = s i~ A4 (o)

EEE | | . = Bkt

1111 S . 3o 4

NDOD R . : N xX\Oo SO(/ID 7

Eggg (6) 1/2" dia. thru-bolts, typical. ' %LO% ( dé w/ » Tt = \;1ﬁ

%%é’g 1 (4) 1/2" dia. bolts thru double 2x10 % ‘ngg o' A 7
= (2) 1/2" dia. bolts thru 2x10 blocking. " e‘A euo - —
— ( * ;

=4 |

dhd
._!_E

‘l A T 2x(0 y 4
- :ﬂ B Side plate: PL 1/4" x 5-3/4" x 7"
| (2) 1/2" dia. bolts thru 2x10 blocking.
- N - '
et Vo : ll (4) 172" dia thru-bolts
-Cap plate: PL1/4"x9"x9""

Vert. Plate: PL 1/4" x7” x 9”

Side plate: PL1/4" x 5-3/4"x 7" - P

Cap plate: PL1/4"x9"x 9"
B

5” Std Steel Pipe Column
(HSS5.563x0.258” okay)

Lo

Vertical plate: PL 1/4"x 9" x 7"

N

T 2x(0

Strap 2x10 blocks together w/
Simpson “ST18” (Install all nails)
(1 4) 16d X 3—1/2" nails.

——-1"”"—
, holesiin botta
of joist hangers typlcal |

2013

Strap 2x10 blocks together w/
Simpson “ST18” (Install all nails)
(14) 16d x 3-1/2" nails.

Drill 3/16” dia. holes in bottom

@ J of joist hangers, typical.

o
~3
)
N

S 11

-——:""‘”‘T"M—’— v
— permit Numbe!

w— " . E
- == i
{expimEs: :

{ EXPIRES:




612 l Plucci b6-20-(> Er—=i0.
‘ _* SPECIAL BEAM-BepAM—PoST DETACL:
@ &3 @
SLt,
20
8334
wwwiL
1 k11
ONHDD am £X1sTIN
= soas | it A g A
SHEATHING SCHEDULE: PIUCCI GARAGE REMODEL 3888
P11l
8855
§,§§,§’, A~ Seomema ) e cn sk f5
: S " = P |y e
Exterior Walls: 1/2" plywood (32/16) or APA rated sheathing 5 . =
(Typical) With 8d com nails at 6" o/c all panel edges :] - .‘j ______ Sl
And 8d com nails at 12" o/c field. & e — ..
All edges must be blocked. (260/365) 3 s
JP o. r
Anchor Bolts: P.T. 2x6 (min) sill plates with 5/8" dia x 12" Anchor Bolts at 48" o/c. ; 7
(Typical) Provide plate washers between nut and sill plate: PL 1/4" x 3" square. NE\\] oxlo
= OF BeAM
Anchor Bolts: P.T. 2x6 (min) sill plates with 5/8" dia x 12” Anchor Bolts at 16” o/c R0 % .
(Front Wall) Provide plate washers between nut and sill plate: PL 1/4" x 3" square. [*] ( DE-L *1) A . =
= . EXSTING
¥ RooF
g3 | SIMPSOR) BEAM:
Hurricane Ties: Connect each rafter to each support I M cTZ7 Y 5 “a
With (1) Simpson “H2.5A" hurricane tie. : _NeTZ7 5 Xlo
Verrica |
Beam / Post Straps: - Strap each existing beam to each post w/ STeeC l ‘ PosT
(1) Simpson “LSTA9" strap each side, typical. . STRAPS { L=
Botr mll
SIPES.
Note: If necessary,
notch (trim) top of existing
beam, not the bottom of the
new beam.

‘Tim Covert P.E. i
' Structural Engineer , _ ,
1750 SW Skyline Blvd #221

Portland, Oregon 97221

OREGON




FOOTING SCHEDULE: Capacities based on 1500 psf

@ 16" diameter x 5’-0” deep augered concrete footing.

Materials: Concrete 3000 psi at 28 days *

: Slump (ftg) 3" to 5" -
Portland Cement C-150 -
'5-1/2 sacks per cubic yard
Aggregates per C-33
3/4" maximum aggregate size
Water per C-94
Concrete Temperature 50-90 F
Air Entrained 5-7%

Note: The concrete supplier shall assume full responsibility
for the mix design and the overall performance of the

concrete.

Rebar ASTM A615 Grade 40

* Foundation design performed using 2500 psi.
Special Inspection not required.

. Tim Covert P.E.

. Structural Engineer

{1750 SW Skyline Blvd #221
Portland, Oregon 97221

6128 Ptuccy | 2(8 /(‘; . FDN — (

EXISTING
cMuU + FTQG.

o
2100 Ibs. Note: See Architect for all IZtU‘
horizontal dimensions. Y-1o-13
NEW CONCRETE -
CURP ovEYL s
EXisTING SLAD
|4 EIN T el e iy s !
C /'.‘, b : :
e 7 L A Existing concrete slab ,

18" diameter x 7°-3”
deep augered concrete
footing. Do not form.
(no Sonotubes).

= . (garage floor) . >

&

B~ L €3)

- G TYp. EACH
eND.

\ B e ‘4 oz
(@) oz 722W

St —

(-

@

MODIFIED FOUNDATI
GARAGE REMODEL




: ‘2@ (@

| e

ED

Fl

' Cles

Rev.

¢ —(o-(3

Secmion THRW PRE FT4.

L

i, i T R \\%

7

1

i i B L

e e

P

speciaL STeEM  WALL ge:c—r@\\:

i PL.\ewoooz_

i« ‘
i QK%STUDSQ (C ofe.
Poi-Zxt Fioeve W/
o3 b x 12! A .BOLTS
C U6 sz =
Sk
7y e el ) 3
’A A K _ :Lh

~
SNl

V]

\ EXIsTNG

City of Pofﬂang,\ S

"~ Permit Number

. LA e e
\\///( 4

SLA®.
N
= 0"""‘—57“ (2)#4'
i : \ BT, BARS.
» LA E g
" 48 0
4 C L C LC 4
(="
5 i
(qu)

| 1111 :
SEP 11 20 Sg




6128 l F '2/1({(? £0-3

Rev.
el 4-l0-(3

e F3 SPECIAL ACURD  SECTION ¢

- 2x4 STUDS @ (b o,
Yo prpesecD — [ SEE DETAL
gl O
/ WALL DETALL)

r PT. 2x4 (MIN)

PLATE W[ 98'®
ALL - THREAD :

I A. BOLTS @ 48 "o(c.

(L&)

EX(sTtA)
u)‘t‘k Sro. |

Drill 3/4" diameter x 2-1/2" holes
for all-thread anchor bolts (48" o/c)
No epoxy required.

Tim Covert P.E. : ; } : S bead
- Structural Engineer SEP 11 2013
1750 SW Skyline Blvd #221 : :
- Portland, Oregon 97221 |

~ Permit Number




